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OR (3121a1)

How is spinel manufactured?

TRYAd &1 S o9 fHar wiar 27

9. What are the raw material used for glass

manufacturing? Explain one raw material in detail.
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Write about :
(a) Si3N4
(b) SiC

3o IR ¥ faa@
(31) SiyN,
(@) siC
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Time : 3Hrs.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ it 20 g & SR Q, UAD U ST AF [3H 2|
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uift ufg yeal @ SR <, UAS U BT 91 6 AF 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
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What is viterification? How is feldsphar helps in (i)
viterification ? 4
rAfpaeE |&IT 8?7 buR o9 b ad =

H Agq HdTl =7
OR (3121a1)
(iii)
What are the raw material used in refractory

industry ? Write short note on a refractory raw
material.

Rwad) Ser § dla—ai9 9 A—aSRIAT &1
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JRu B 4R A e | (i
What is mica ? Write its uses. s
ATEHT T 287 9 SUAM &l ford |

OR(3721d) (iv)

What is zircon ? Write its properties and uses.

OR®IT a1 282 39 U qAT SN B
ford |
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(31) o
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(\) dfauTse

(?) 379 & HIs &)

ZrSio, have structure
(a) Orthosilicate

(b) Metasilicate

(c) Pyrosilicate

(d) None of these

ZrSio, BT HaRAT 2
(31) srerffafarde

(@) Aefifase

(@) ursifyferee
() 39 9 BIg 78

Transformation of Quartz to tridymite taken
place at temperature

(a) 573°C

(b) 867°C

(c) 1470°C

(d) 1723°C
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(xx) TITH 94T BidT 8, 3919
(31) Raferar
() arst

(|) <rgH
(%) SwIqad g+

GROUPB

Answer all Five Questions.

gl gfa gol & S<x © | 4x5=20

2. How is primary clay formed in nature ?
TR H YIS 9 DY T 2 ?
OR (372rd1)

What is talc ? Write its uses.

Tled T 27 39 SUAIN &l fod |

NT3007

(vi)

(vii)

(vii)

(viii)
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(31) Yrg3a @l
(@) ys¥ @
(@) Rrsa=<d 7
(q) oI =1

Which clay have finest grain size
(a) China clay

(b) Ball clay

(c) Fire clay

(d) None

foa oo &1 B9 Az 99 7L BIdT
2

(31) arsT T

(@) s @t

(¥) BRR T

(?) ®Ig &

Montmorillonite group has structure
(a) Three layer

(b) Two layer

(c) Single layer

(d) None of these
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CoO HIF—4T ¥ <dT &
(31) =frem

@) &

() Terdt

(]) ®IRe a1

(xvi)

Sensors is made from
(a) ZnO

(b) ZrO,

(¢) SnO,

(d) All of the above

(xvii)

(xvil) HER 99T BT B, BT
(31) zZnO
@) zro,
(&) SnO,
(%) Swiaa g+

(xviii) Chemical formula of bone ash is
(a) Ca(PO,),
(b) Ca,(PO,),
(c) Ca, (PO 4)3
(d) None of these

NT3007 NT3007

x)

(xi)

(xi)

(xii)

7 1613303

aed ol ugref 2
(3r) dTedTgT

(@) sraHs

(\) @I
(?) ®1g 7

Position of talc in moh’s scale is
(a) 1st

(b) 2nd

(¢) 3rd

(d) 4th

g bd A Tled BT A &
(1) ugan
(@) ga
(\) e
(2) dterm

Vermicullite is

(a) Thermal conductor
(b) Thermal insulator
(¢) Electrical conductor
(d) None
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10. What are the alumino - silicate mineral ? Write its

11.

properties and uses

tgfim —fafase aRaea «r 287
U I[N qAT ST Bl ford |
OR (3121a1)

Why is graphite a good refractory material ?
Explain in detail.

JBhIsc TP IBT R 37 AR w7 87
quis B |

Why is jet engine coated by ceramic material?

6
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far siar 87

OR (3121a1)

Write about alumina and its application

TG don g9 SuAifiar & fawa o
fore |

Kk

NT3007 17 1613303

10. What are the alumino - silicate mineral ? Write its

11.

properties and uses

rgfim —fifase aTRaa «r 232
$HD TON qAT STATN B ford |
OR (312141)

Why is graphite a good refractory material ?
Explain in detail.

JBhIgc TP IBT R I ASRIT w7 87?
quis &Y |

Why is jet engine coated by ceramic material?
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Write about alumina and its application
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